

ON MULTIVALENT FUNCTIONS IN THE UNIT DISC

By

Mamoru NUNOKAWA and Janusz SOKÓŁ

Abstract. Let $\mathcal{A}(p)$ be the class of functions $f(z)$, analytic in $|z| < 1$ in the complex plane, of the form $f(z) = z^p + \dots$. We study the question, that naturally rises, about the relation between the expressions $\frac{zf^{(p)}(z)}{f^{(p-1)}(z)}$ and $\frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)}$, when $f(z) \in \mathcal{A}(p)$. Some relations of this type imply that $f(z)$ is p -valent or p -valent starlike in $|z| < 1$.

1. Introduction

Let \mathcal{H} denote the class of functions analytic in the unit disk $\mathbf{D} = \{z \in \mathbf{C} : |z| < 1\}$. Let \mathcal{A} denote the class of functions $f(z) \in \mathcal{H}$ of the form:

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (z \in \mathbf{D}).$$

A function $f(z)$ which is analytic in a domain $D \in \mathbf{C}$ is called p -valent in D if for every complex number w , the equation $f(z) = w$ have at most p roots in D and there will be a complex number w_0 such that the equation $f(z) = w_0$, has exactly p roots in D . Let $\mathcal{A}(p)$ be the class of functions of the form

$$(1.2) \quad f(z) = z^p + \sum_{n=p}^{\infty} a_n z^n, \quad (z \in \mathbf{D}),$$

where $a_p \neq 0$ and $p \in \mathbf{N} = \{1, 2, \dots\}$. In [10] S. Ozaki proved that if $f(z) \in \mathcal{A}(p)$ and is analytic in a convex domain $D \subset \mathbf{C}$ and for some real α we have

$$(1.3) \quad \Re\{\exp(i\alpha)f^{(p)}(z)\} > 0 \quad z \in D,$$

2000 *Mathematics Subject Classification*: Primary 30C45; Secondary 30C80.

Key words and phrases: univalent functions, starlike, convex, starlike of order alpha.

Received April 13, 2017.

Revised September 7, 2017.

then $f(z)$ is at most p -valent in D . Ozaki's condition is a generalization of the well known Noshiro-Warschawski univalence condition with $p = 1$, [3], [11]. Applying Ozaki's theorem, we find that if $f(z) \in \mathcal{A}(p)$ and

$$(1.4) \quad \Re\{f^{(p)}(z)\} > 0 \quad (z \in \mathbf{D}),$$

then $f(z)$ is at most p -valent in \mathbf{D} . In [5, 454] it was proved that if $f(z) \in \mathcal{A}(p)$, $p \geq 2$, and

$$(1.5) \quad |\arg\{f^{(p)}(z)\}| < \frac{3\pi}{4} \quad (z \in \mathbf{D}),$$

then $f(z)$ is at most p -valent in \mathbf{D} . A function $f(z) \in \mathcal{A}(p)$ is said to be p -valently starlike of order α , $0 < \alpha < p$, if and only if

$$(1.6) \quad \Re\left\{\frac{zf'(z)}{f(z)}\right\} > \alpha, \quad (z \in \mathbf{D}),$$

and let us denote it as

$$f(z) \in \mathcal{S}_p(\alpha).$$

Further, a function $f(z) \in \mathcal{A}(p)$ is said p -valently convex of order α , $0 < \alpha < p$, if and only if

$$(1.7) \quad 1 + \Re\left\{\frac{zf''(z)}{f'(z)}\right\} > \alpha, \quad (z \in \mathbf{D})$$

and let us denote it as

$$f(z) \in \mathcal{C}_p(\alpha).$$

LEMMA 1.1 ([1]). *Let $w(z)$ be non-constant and analytic function in the unit disc \mathbf{D} with $w(0) = 0$. If $|w(z)|$ attains its maximum value on the circle $|z| = r$ at the point z_0 , then $z_0w'(z_0) = kw(z_0)$ and $k \geq 1$.*

LEMMA 1.2 ([6]). *Let p be analytic function in \mathbf{D} , with $p(0) = 1$. If there exists a point z_0 , $|z_0| < 1$, such that $\Re\{p(z)\} > 0$ for $|z| < |z_0|$ and $p(z_0) = \pm ia$ for some $a > 0$, then we have*

$$\frac{z_0p'(z_0)}{p(z_0)} = \frac{2ik \arg\{p(z_0)\}}{\pi}, \quad \arg\{p(z_0)\} = \pm \frac{\pi}{2}$$

for some $k \geq (a + a^{-1})/2 \geq 1$.

2. Main Result

Let $f(z) \in \mathcal{A}(p)$, $p \geq 2$. Assume for a moment that $0 < \alpha < 1$ and

$$(2.1) \quad p(z) = \frac{zf^{(p-1)}(z)}{2f^{(p-2)}(z)} \neq \alpha \quad (z \in \mathbf{D}).$$

Then the function

$$w(z) = \frac{1 - p(z)}{\alpha - p(z)} \quad (z \in \mathbf{D})$$

is analytic in \mathbf{D} , $w(0) = 0$. If $|w(z)|$ attains its maximum value 1 on the circle $|z| = r < 1$ at the point z_0 , then by Lemma 1.1, $z_0w'(z_0) = kw(z_0)$ and $k \geq 1$. We have also

$$(2.2) \quad p(z) = \frac{zf^{(p-1)}(z)}{2f^{(p-2)}(z)} = \frac{1 - \alpha w(z)}{1 - w(z)}, \quad |w(z_0)| = 1 \quad \text{so } \Re\{2p(z_0) - 1\} = \alpha$$

which gives the following equation

$$\frac{zf^{(p)}(z)}{f^{(p-1)}(z)} = \frac{zp'(z)}{p(z)} + 2p(z) - 1,$$

Then $z_0w'(z_0) = kw(z_0)$ and $k \geq 1$ follow that

$$\begin{aligned} (2.3) \quad & \Re\left\{\frac{z_0f^{(p)}(z_0)}{f^{(p-1)}(z_0)}\right\} \\ &= \Re\left\{-\frac{\alpha z_0w'(z_0)}{1 - \alpha w(z_0)} + \frac{z_0w'(z_0)}{1 - w(z_0)} + 2p(z_0) - 1\right\} \\ &= \Re\left\{k \frac{-\alpha w(z_0)}{1 - \alpha w(z_0)}\right\} + \Re\left\{\frac{k w(z_0)}{1 - w(z_0)}\right\} + \Re\{2p(z_0) - 1\} \\ &= \Re\left\{-\frac{k}{2} \frac{1 + \alpha w(z_0)}{1 - \alpha w(z_0)}\right\} + \frac{k}{2} + \Re\left\{\frac{k w(z_0)}{1 - w(z_0)}\right\} + \Re\{2p(z_0) - 1\} \\ &= \Re\left\{-\frac{k}{2} \frac{1 + \alpha w(z_0)}{1 - \alpha w(z_0)}\right\} + \frac{k}{2} - \frac{k}{2} + \alpha \\ &\leq -\frac{1 - \alpha}{2(1 + \alpha)} + \alpha \\ &= \frac{2\alpha^2 + 3\alpha - 1}{2(1 + \alpha)}. \end{aligned}$$

Hence, if we would assume that

$$(2.4) \quad \Re \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} > \frac{2\alpha^2 + 3\alpha - 1}{2(1 + \alpha)}, \quad (z \in \mathbf{D}),$$

then (2.3) would imply that $|w(z)| < 1$ in \mathbf{D} and by (2.2)

$$\Re \left\{ \frac{zf^{(p-1)}(z)}{2f^{(p-2)}(z)} \right\} > \frac{1 + \alpha}{2} \quad (z \in \mathbf{D}).$$

Furthermore condition (2.1) is not necessary. Inequality (2.4) implies (2.1). To show this we apply a result from [2, p. 26] which says that if $p(z) = 1 + \dots$, $p(z) \neq 1$, $z_1 \in \mathbf{D}$ and

$$(2.5) \quad \Re\{p(z_1)\} = \min\{\Re\{p(z)\} : |z| < |z_1|\},$$

then $z_1 p'(z_1)$ is a negative real and

$$z_1 p'(z_1) \leq -\frac{1}{2} \frac{|1 - p(z_1)|^2}{\Re\{1 - p(z_1)\}}.$$

From that, if we suppose that there exists $z_1 \in \mathbf{D}$ such that (2.5) holds with $\Re\{p(z_1)\} = \alpha$, then we have

$$\begin{aligned} \Re \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} \Big|_{z=z_1} &= \Re \left\{ \frac{zp'(z)}{p(z)} + 2p(z) - 1 \right\} \Big|_{z=z_1} \\ &\leq -\frac{1}{2\alpha} \frac{|1 - p(z_1)|^2}{1 - \alpha} + 2\alpha - 1 \\ &\leq -\frac{1}{2\alpha} \frac{(1 - \alpha)^2}{1 - \alpha} + 2\alpha - 1 \\ &\leq -\frac{1 - \alpha}{2\alpha} + 2\alpha - 1 \\ &\leq \frac{2\alpha^2 + 3\alpha - 1}{2(1 + \alpha)} \end{aligned}$$

which negates (2.4). Therefore, we have the following theorem.

THEOREM 2.1. *Let $f(z) \in \mathcal{A}(p)$, $p \geq 2$, $0 < \alpha < 1$, and let it satisfy the following condition*

$$(2.6) \quad \Re \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} > \frac{2\alpha^2 + 3\alpha - 1}{2(1 + \alpha)}, \quad (z \in \mathbf{D}),$$

Then we have

$$(2.7) \quad \Re \left\{ \frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)} \right\} > 1 + \alpha, \quad (z \in \mathbf{D}).$$

For $p = 2$, $\alpha = 0$, we have

COROLLARY 2.2. Let $f(z) \in \mathcal{A}(2)$, and let it satisfy the following condition

$$(2.8) \quad \Re \left\{ \frac{zf''(z)}{f'(z)} \right\} > -\frac{1}{2}, \quad (z \in \mathbf{D}),$$

Then we have

$$(2.9) \quad \Re \left\{ \frac{zf'(z)}{f(z)} \right\} > 1, \quad (z \in \mathbf{D}).$$

Putting

$$(2.10) \quad \beta = \frac{2\alpha^2 + 3\alpha - 1}{2(1 + \alpha)}, \quad 0 \leq \alpha < 1,$$

then $-1/2 \leq \beta \leq 1$ and Theorem 2.1 is equivalent to the following result.

THEOREM 2.3. Assume that $f(z) \in \mathcal{A}(p)$, $p \geq 2$, $-1/2 \leq \beta \leq 1$. If the function

$$\frac{f^{(p-1)}(z)}{p!} = z + \dots$$

is starlike of order β or

$$\Re \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} > \beta, \quad (z \in \mathbf{D}),$$

then

$$\Re \left\{ \frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)} \right\} > \frac{1}{4} \{2\beta + 1 + \sqrt{4\beta^2 + 4\beta + 17}\}, \quad (z \in \mathbf{D}),$$

or

$$f(z) \in \mathcal{S}(p, p - 1, \beta) \Rightarrow f(z) \in \mathcal{S}(p - 1, p - 2, \{2\beta + 1 + \sqrt{4\beta^2 + 4\beta + 17}\}/4),$$

where we use for simplification the notation

$$\mathcal{S}(k, k-1, \beta) = \left\{ f(z) \in \mathcal{A}(p) : \Re \left\{ \frac{zf^{(k)}(z)}{f^{(k-1)}(z)} \right\} > \beta \right\},$$

for an integer k , $0 < k \leq p$.

Now, we are going to improve the following theorem

THEOREM 2.4 ([4]). *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$ be analytic in \mathbf{D} and suppose that*

$$\Re \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} > 0, \quad (z \in \mathbf{D}).$$

Then we have

$$\Re \left\{ \frac{zf^{(k)}(z)}{f^{(k-1)}(z)} \right\} > 0, \quad (z \in \mathbf{D}),$$

for each k , $k = 1, 2, 3, \dots, p$.

THEOREM 2.5. *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, $2 \leq p$, $0 < \alpha < 1$, be analytic in \mathbf{D} and suppose that*

$$(2.11) \quad \Re \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} > -\frac{2\alpha^2 - \alpha + 1}{2(1 - \alpha)}, \quad (z \in \mathbf{D}).$$

Then we have

$$(2.12) \quad \Re \left\{ \frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)} \right\} > 1 + \alpha, \quad (z \in \mathbf{D}).$$

PROOF. Let us put

$$(2.13) \quad p(z) = \frac{zf^{(p-1)}(z)}{2f^{(p-2)}(z)} = \frac{1 - \alpha w(z)}{1 - w(z)}, \quad p(0) = 1,$$

where $-1 \leq \alpha \leq 0$, and $w(z)$ is analytic in \mathbf{D} if we assume that

$$(2.14) \quad \frac{zf^{(p-1)}(z)}{2f^{(p-2)}(z)} \neq \alpha, \quad (z \in \mathbf{D})$$

but (2.12) implies (2.14), the proof of this runs in the same way as for condition (2.1) in Theorem 2.1, so we not need add (2.14) to the hypothesis of Theorem 2.5.

Then it follows that

$$1 + \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} - \frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)} = \frac{zp'(z)}{p(z)}$$

or

$$\begin{aligned} \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} &= \frac{zp'(z)}{p(z)} + 2p(z) - 1 \\ &= -\frac{\alpha zw'(z)}{1 - \alpha w(z)} + \frac{zw'(z)}{1 - w(z)} + \frac{2(1 - \alpha w(z))}{1 - w(z)} - 1. \end{aligned}$$

Now, we prove that $|w(z)| < 1$ in \mathbf{D} . If there exists a point z_0 , $|z_0| < 1$, such that

$$|w(z)| < 1 \quad \text{for } |z| < |z_0|$$

and

$$|w(z_0)| = 1$$

then from Jack's lemma [1], we have

$$\frac{z_0 w'(z_0)}{w(z_0)} = k \geq 1$$

and so, we have

$$\begin{aligned} \frac{z_0 f^{(p)}(z_0)}{f^{(p-1)}(z_0)} &= \frac{z_0 p'(z_0)}{p(z_0)} + 2p(z_0) - 1 \\ &= -\frac{k\alpha w(z_0)}{1 - \alpha w(z_0)} + \frac{k w(z_0)}{1 - w(z_0)} + \frac{2(1 - \alpha w(z_0))}{1 - w(z_0)} - 1. \end{aligned}$$

Applying the same calculation as in [1], we have

$$\begin{aligned} \Re \left\{ \frac{z_0 f^{(p)}(z_0)}{f^{(p-1)}(z_0)} \right\} &\leq \Re \left\{ -\frac{k\alpha w(z_0)}{1 - \alpha w(z_0)} + \frac{k w(z_0)}{1 - w(z_0)} + \frac{2(1 - \alpha w(z_0))}{1 - w(z_0)} - 1 \right\} \\ &\leq \frac{k}{2} - \frac{k(1 + \alpha)}{2(1 - \alpha)} - \frac{k}{2} + (1 + \alpha) - 1 \\ &\leq -\frac{1 + \alpha}{2(1 - \alpha)} + \alpha \\ &= -\frac{2\alpha^2 - \alpha + 1}{2(1 - \alpha)}. \end{aligned}$$

This contradicts hypothesis (2.11) and therefore, we have

$$|w(z)| < 1 \quad z \in \mathbf{D}.$$

Hence, from (2.13), we have

$$\Re\{p(z)\} = \Re\left\{\frac{zf^{(p-1)}(z)}{2f^{(p-2)}(z)}\right\} > \frac{1+\alpha}{2}, \quad (z \in \mathbf{D}).$$

It completes the proof of Theorem 2.5. □

For $p = 2$, $\alpha = 0$, Theorem 2.5 becomes Corollary 2.2, therefore Theorem 2.5 is in some sense a continuation of Theorem 2.1. Furthermore, Theorem 2.5 is an improvement of Theorem 2.4, it describes the following corollary.

COROLLARY 2.6. *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, $2 \leq p$ be analytic in \mathbf{D} and suppose*

$$\Re\left\{\frac{zf^{(p)}(z)}{f^{(p-1)}(z)}\right\} > -1, \quad (z \in \mathbf{D}).$$

Then we have

$$\Re\left\{\frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)}\right\} > 0, \quad (z \in \mathbf{D}).$$

COROLLARY 2.7. *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, $2 \leq p$ be analytic in \mathbf{D} and suppose*

$$(2.15) \quad \Re\left\{\frac{zf^{(p)}(z)}{f^{(p-1)}(z)}\right\} > -1, \quad (z \in \mathbf{D}).$$

Then we have

$$(2.16) \quad \Re\left\{\frac{zf^{(k)}(z)}{f^{(k-1)}(z)}\right\} > 0, \quad (z \in \mathbf{D}),$$

for each k , $k = 1, 2, 3, \dots, p-1$.

PROOF. Putting $\alpha = 1$ in Theorem 2.5, we have

$$\Re\left\{\frac{zf^{(p-1)}(z)}{f^{(p-2)}(z)}\right\} > 0, \quad (z \in \mathbf{D})$$

and applying Theorem (2.4), we have

$$(2.17) \quad \Re \left\{ \frac{zf^{(k)}(z)}{f^{(k-1)}(z)} \right\} > 0, \quad (z \in \mathbf{D}),$$

for each $k, k = 1, 2, 3, \dots, p - 1$. It completes the proof of Corollary 2.7. \square

COROLLARY 2.8. *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, be analytic in \mathbf{D} and suppose that*

$$(2.18) \quad \left| \Im \left\{ \frac{f^{(p+1)}(z)}{f^{(p)}(z)} \right\} \right| < \frac{3\pi|z|}{2}, \quad (z \in \mathbf{D} \setminus \{0\}).$$

Then $f(z)$ is at most p -valent in \mathbf{D} .

PROOF. From the hypothesis, we have

$$\begin{aligned} \left| \Im \int_0^z \frac{f^{(p+1)}(t)}{f^{(p)}(t)} dt \right| &\leq \int_0^z \left| \Im \left\{ \frac{f^{(p+1)}(t)}{f^{(p)}(t)} \right\} \right| |dt| < \int_0^z \frac{3}{2} \pi |t| |dt| \leq \frac{3}{4} \pi |z|^2 \\ &< \frac{3}{4} \pi, \end{aligned}$$

where $|z| < 1, \arg\{z\} = \theta, t = \rho e^{i\theta}$ and $0 \leq \rho \leq |z|$. Applying Nunokawa's result (1.5), we immediately obtain that $f(z)$ is at most p -valent in \mathbf{D} . \square

Recall here some related results.

LEMMA 2.9 ([7, Th. 2, p. 93]). *Let $f(z) \in \mathcal{A}(p), f^{(k)}(z) \neq 0$ in $0 < |z| < 1$ for $k = 1, 2, \dots, p$ and suppose that*

$$(2.19) \quad |\arg\{f^{(p)}(z)\}| < \frac{\pi}{2} \left(1 + \frac{1}{\pi} \log p \right) \quad z \in \mathbf{D}.$$

Then $f(z)$ is p -valent in \mathbf{D} .

LEMMA 2.10 ([8]). *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$ be analytic in $\mathbf{D}, f^{(k)}(z) \neq 0$ in $0 < |z| < 1$ for $k = 1, 2, 3, \dots, p$ and suppose that*

$$(2.20) \quad \left| \Im \left\{ \frac{zf^{(p+1)}(z)}{f^{(p)}(z)} \right\} \right| \leq \frac{\pi}{2} \left\{ 1 + \frac{2}{\pi} \log p \right\} \alpha |z|^\alpha \quad z \in \mathbf{D},$$

for some $\alpha > 0$. Then $f(z)$ is p -valent in \mathbf{D} .

THEOREM 2.11. Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, be analytic in \mathbf{D} and suppose that

$$(2.21) \quad \left| \Im \left\{ \frac{1}{z} + \frac{f^{(p+1)}(z)}{f^{(p)}(z)} - \frac{f^{(p)}(z)}{f^{(p-1)}(z)} \right\} \right| < \pi |z|, \quad (z \in \mathbf{D} \setminus \{0\}).$$

Then $f(z)$ is at most p -valent in \mathbf{D} .

PROOF. Applying the same method as the above proof, we have

$$\left| \arg \left\{ \frac{zf^{(p)}(z)}{f^{(p-1)}(z)} \right\} \right| < \frac{\pi}{2} \quad (z \in \mathbf{D}).$$

Applying [4, Theorem 5] shows that $f(z)$ is p -valently starlike in \mathbf{D} and so, $f(z)$ at most p -valent in \mathbf{D} . \square

THEOREM 2.12. Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, $p \geq 2$ be analytic in \mathbf{D} and suppose that

$$(2.22) \quad \Re \{ f^{(p)}(z) \} > -\frac{p!}{2}, \quad (z \in \mathbf{D}).$$

Then $f(z)$ is at most p -valent in \mathbf{D} .

PROOF. Let us put

$$p(z) = \frac{f^{(p-1)}(z)}{p!z}, \quad p(0) = 1, \quad (z \in \mathbf{D}).$$

Then it follows that

$$f^{(p)}(z) = p!(p(z) + zp'(z)).$$

If there exists a point z_0 , $|z_0| < 1$, such that

$$\Re \{ p(z) \} > 0 \quad \text{for } |z| < |z_0|$$

and

$$\Re \{ p(z_0) \} = 0$$

then from Lemma 1.2 we have

$$z_0 p'(z_0) = \Re \{ z_0 p'(z_0) \} \leq -\frac{1}{2(1 + |p(z_0)|^2)}.$$

Therefore, we have

$$\begin{aligned} \Re\{f^{(p)}(z_0)\} &= \Re\{p!(p(z_0) + z_0p'(z_0))\} = \Re\{p!z_0p'(z_0)\} \\ &\leq -\Re\left\{\frac{p!}{2}(1 + |p(z_0)|^2)\right\} \leq -\frac{p!}{2}. \end{aligned}$$

This contradicts hypothesis and so, it shows that

$$\Re\{p(z)\} = \frac{1}{p!} \Re\left\{\frac{f^{(p-1)}}{z}\right\} > 0, \quad (z \in \mathbf{D}).$$

Applying Nunokawa's result [4, Th. 8], we obtain that $f(z)$ is at most p -valent in \mathbf{D} . □

THEOREM 2.13. *Let $f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n$, $p \geq 2$ be analytic in \mathbf{D} and suppose that*

$$(2.23) \quad \Re\left\{\frac{zf^{(k)}(z)}{z^{p-k+1}}\right\} > -\frac{p(p-1)(p-2)\cdots(p-k+2)}{2}, \quad (z \in \mathbf{D}).$$

Then we have

$$\Re\left\{\frac{zf^{(k-1)}(z)}{z^{p-k}}\right\} > 0, \quad (z \in \mathbf{D})$$

or $f(z)$ is at most p -valent in \mathbf{D} .

PROOF. Let us put

$$p(z) = \frac{1}{p(p-1)(p-2)\cdots(p-k+2)} \frac{f^{(k-1)}(z)}{z^{p-k}}, \quad p(0) = 1, \quad (z \in \mathbf{D}).$$

Then it follows that

$$f^{(k-1)}(z) = \alpha \frac{p(z)z^{p-k}}{z},$$

where $\alpha = p(p-1)(p-2)\cdots(p-k+2)$ and

$$f^{(k)}(z) = \frac{\alpha\{(p'(z)z^{p-k} + p(z)(p-k)z^{p-k-1})z - p(z)z^{p-k}\}}{z^2}$$

and so,

$$\begin{aligned} \frac{z^2 f^{(k)}(z)}{z^{p-k+2}} &= \frac{z f^{(k)}}{z^{p-k+1}} \\ &= \alpha(zp'(z) + p(z)(p-k) - p(z)) \\ &= \alpha(zp'(z) + (p-k-1)p(z)). \end{aligned}$$

If there exists a point z_0 , $|z_0| < 1$, such that

$$\Re\{p(z)\} > 0 \quad \text{for } |z| < |z_0|$$

and

$$\Re\{p(z_0)\} = 0$$

then from Lemma 1.2 we have

$$z_0 p'(z_0) = \Re\{z_0 p'(z_0)\} \leq -\frac{1 + |p(z_0)|^2}{2}.$$

Therefore, we have

$$\begin{aligned} \Re\left\{\frac{f^{(k)}(z_0)}{z_0^{p-k+1}}\right\} &\leq -\frac{\alpha}{2}(1 + |p(z_0)|^2) \\ &\leq -\frac{\alpha}{2}. \end{aligned}$$

This contradicts hypothesis and so, it shows that

$$\Re\left\{\frac{z f^{(k-1)}(z)}{z^{p-k}}\right\} > 0, \quad (z \in \mathbf{D})$$

Applying Nunokawa's result [4, Th. 8], we obtain that $f(z)$ is at most p -valent in \mathbf{D} . \square

In [9] the authors proved that if $f \in \mathcal{A}(p)$, $p \geq 2$ and there exists a positive integer k , $1 \leq k \leq p-1$ for which $(f^{(k)}(z)/z^{p-k})'$ is real for real z and

$$\Re\left\{\left(\frac{f^{(k)}(z)}{z^{p-k}}\right)'\right\} > 0 \quad z \in \mathbf{D},$$

then, we have

$$\Re\left\{\frac{z f^{(k+1)}(z)}{f^{(k)}(z)}\right\} \geq p-k \geq 0 \quad z \in \mathbf{D}.$$

References

- [1] I. S. Jack, Functions starlike and convex of order α , J. London Math. Soc. **3** (1971) 469–474.
- [2] S. S. Miller and P. T. Mocanu, S. S. Miller, P. T. Mocanu, Differential Subordinations, Theory and Applications, Series of Monographs and Textbooks in Pure and Applied Mathematics, Vol. 225, Marcel Dekker Inc., New York / Basel 2000.
- [3] K. Noshiro, On the theory of schlicht functions, J. Fac. Sci. Hokkaido Univ. Jap., **2**(1) (1934–35) 129–135.
- [4] M. Nunokawa, On the theory of multivalent functions, Tsukuba J. Math. **11**(2) (1987) 273–286. 35–43.
- [5] M. Nunokawa, A note on multivalent functions, Tsukuba J. Math. **13**(2) (1989) 453–455. 35–43.
- [6] M. Nunokawa, On Properties of Non-Carathéodory Functions, Proc. Japan Acad. Ser. A **68**(6) (1992) 152–153.
- [7] M. Nunokawa, On the theory of multivalent functions, Panamerican Math. Jour. **6**(2) (1996) 87–96.
- [8] J. J. Sokół, M. Nunokawa, N. E. Cho, H. Tang, On some applications of Noshiro-Warschawski's theorem, Filomat, **31**(1) (2017) 107–112.
- [9] M. Nunokawa, J. Sokół, Conditions for starlikeness of multivalent functions, Results Math. **72** (2017) 359–367.
- [10] S. Ozaki, On the theory of multivalent functions, Sci. Rep. Tokyo Bunrika Daigaku Sect. A **2** (1935) 167–188.
- [11] S. Warschawski, On the higher derivatives at the boundary in conformal mapping, Trans. Amer. Math. Soc. **38** (1935) 310–340.

University of Gunma
Hoshikuki-cho 798-8, Chuou-Ward
Chiba, 260-0808, Japan
E-mail: mamoru_nuno@doctor.nifty.jp

University of Rzeszów
Faculty of Mathematics and Natural Sciences
ul. Prof. Pigońia 1
35-310 Rzeszów, Poland
E-mail: jsokol@ur.edu.pl